IHE 0l &FA

Al
T

2

™

Lon]

=:22,521d
2=:22,5218 &

=

Ql

20232 Al

Al
Al

M2zl Bolsl A M- AE

OFJ
ol
<\
or

oJ
£l
E
ol




20233 HHE SOl
Ct

A

HEE

H1ZE

M2z

=
2

==

=3

At

i I — Ry A —

20232] HIH - SAI0IEAME 2

= Xl
S 4

EHOISIH AIE-MS Ollat

=
=

“oHE el

ol

T o=

0o

== |

o= &

o

Ct.

‘MY-ME 22F 22,521,0008" 2




20233 HH T EOIg[H Old SZH

(Cte : A )
Al ol Al =
. FZIEA| I Eicl i _— ZHAEAN | I Eitl ) = A HI
2 9 OlAFQH | Q& [ =SAZ %) 2 49 OlAROH | OflAtod | = A2 (%)
(A) (B) (A-B) (% (A) (B) (A-B) :
1. ek 19,311 | 19,322 A11| 85.7%|1. Ol AF3IH 1,200 | A1,200
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